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[Time:3.00 Hrs.] [ Marks:100] 

Please check whether you have got the right question paper. 

N.B: 1. All questions are compulsory. 

2. Figures to the right indicate full marks.             

3. Use of non-programmable simple calculator is allowed. 

4. Graph paper will be provided on demand of student. 

 

 

Q.1  Attempt any FOUR of the following. (20) 

 a) Aditi invested Rs.19,890 to purchase shares of a company with face value 

Rs.10 each, at market price of Rs.130. She received dividend of 20% as well. 

Afterwards, she sold these shares at market price of Rs.180. She had to pay 

brokerage of 2% for both purchase and sales of shares. Find her profit. 

 

 

 b) Laila invested Rs. 12,00,000 in a mutual fund on 20 march 2011 with NAV of 

145.6. She redeemed all units on 9 October 2011 and received 2.5 % rate of 

return. If there was no entry or exit load, find NAV on date of sales of unit. 

 

 

 c) Kabir invested Rs. 50,000 in MF on 5th March, 2011 with NAV of 560. He 

redeemed units on 18th October 2011 when NAV was 650. There was no entry 

or exit load. Find the number of units purchased, total gain and rate of return. 

 

 

 d) Chaitali got 320 shares of a company of face value Rs.10, at a market price of 

Rs. 120 each. After 3 months, she received dividend at 40%. After 6 months, 

she sold the shares at a market price of Rs. 160. She paid brokerage at 0.4% for 

both transactions. Find her net gain. 

 

 

 e) A person owned 350 preference shares and 250 ordinary shares of a company, 

which gave 8% and 11% dividend on the preference shares and ordinary shares 

respectively. Find total annual dividend received by him. (FV = Rs.10 for all 

shares) 

 

 

Q.2  Attempt any FOUR of the following. (20) 

 a) Solve the following L.P.P. graphically. 

      Minimize: 𝑍 = 𝑥 + 4𝑦 

     Subject to 𝑥 + 3𝑦 ≥ 3,  2𝑥 + 𝑦 ≥ 2,  𝑥 ≥ 0,  𝑦 ≥ 0 

 

 

D57E5897AC2DCA33AF8726046BFF9B95

IDLAB1-24
Text Box
        F.Y.B.Com (Sem-I)        July-2023
 
   Mathematical and statistical techniques-I



D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

D
57

E5
89

7A
C2D

CA
33

A
F8

72
60

46
BFF

9B
95

 

Q.P. Code:00361 
  

 

  

 

b) 

 

A factory makes two varieties of biscuits A and B with cost per kg as Rs. 45 

and Rs. 60 respectively. The minimum quantities of flour, sugar and 

margarine which Can be ordered for the factory are 560 kg, 450kg and 200 

kg respectively for these items. The variety A requires 700gms of flour, 

200gms of sugar and 100gms of margarine to prepare 1 kg of biscuits. The 

variety B requires 600gms of flour, 250gms of sugar and 150gms of 

margarine to make 1kg of biscuits. Formulate the above linear programming 

problem so as to minimize the cost. 

 

 c) In how many ways can the letters of the word “MOTHER” be arranged? How 

many of these words begin with T and end with E? How many of these begin 

with O? 

 

 

 d) If 𝑛𝑃2 
:   𝑛𝑃3  

= 2 ∶ 1  , Find the value of n.  

 e) A company produces two products A and B. profit per unit of product A is Rs. 

10 and per unit of B is Rs. 15. one unit of product A require 40 machine hours 

and 40 labor hours. Whereas one unit of product B requires 20 machine hours 

and 160 labor hours. Total availability of machine and labor hours are 800 and 

1600 respectively. Formulate LPP. 

 

 

Q.3  Attempt any FOUR of the following. (20) 

 a) If the mean for the following data is Rs. 560. Find missing frequency. 
 

Daily Wages in 

Rs. 

300-

400 

400-

500 

500-

600 

600-

700 

700-

800 

800-

900 

No. of persons 10 20 40 ------ 8 6 

 

 b) Define Arithmetic Mean. Discuss merits and demerits of Arithmetic Mean.  

 c) Find quartile 𝑄1 for the following data.     
 

C.I. 20–25  25–30  30–35  35–40  40–45  45–50  50–55  55–60  

f 30 50 40 180 150 20 70 60 

 

 d) The following are the scores made by two batsmen in an over. Which batsmen 

is a better scorer on an average? Which of them is more consistent? 

 

   Batsmen A 1 6 4 6 3 1 

Batsmen B 3 4 4 3 4 3 

 

 e) Draw the histogram for the following data and hence find the mode 

graphically.  
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Monthly income  

(in Rs.) 

500-

1000 

1000-

1500 

1500-

2000 

2000-

2500 

2500-

3000 

No. of persons 30 50 100 40 30 

 

 

Q.4  Attempt any FOUR of the following. (20) 

 a) A box contains 15 tickets numbered 1 to 15. A ticket is drawn at random 

from the box. Find the probability that the number on the ticket drawn is    

i] divisible by 3       ii] not divisible by 5. 

 

 

 b) A biased coin is tossed thrice. X denotes the numbers of heads in the three 

tosses. If probability distribution of X is as follows: 

𝑃(𝑋 = 𝑥) =  
5

16 
  ;   𝑥 = 0, 1  ; 

            =  
1

8
    ;   𝑥 = 2 

               =    
1

4
   ; 𝑥 = 3 

                = 0.    ; 𝑂𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒 

     Find:  𝐸(𝑋) 𝑎𝑛𝑑 𝑉(𝑋). 

 

 

 c) Define following terms with respect to probability: 

i) Trail    ii) Sample space   iii) probability of an event

  

iv) Exhaustive event  v) Mutually exclusive event  

 

 

 d) If  (𝐴 ∪ 𝐵) =
5

6
 ,  𝑃 (𝐴)̅̅ ̅̅̅ = 

1

3
  ,    𝑃(𝐵) =  

1

2
  ,  find 𝑃(𝐵)̅̅̅̅  ,𝑃(𝐴 ∩ 𝐵).  

 e) From a pack of cards one card is chosen at a random. What is the probability 

that is a king or spade? 

 

 

Q.5  Attempt any FOUR of the following. (20) 

 a) Given the following pay-off table 
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The probabilities of the states of nature are 0.1, 0.7, and 0.2 respectively. Find 

the optimum decision using EOL criterion.  

 

Pay-off→ State of nature 

Acts   S1 S2 S3 

A1 25 400 650 

A2 -10 440 740 

A3 -125 400 750 

 b) Following is the demand distribution of a certain product, prepare pay-off 

table. The product is sold at Rs. 100 per unit and its cost is Rs. 60 per unit. 

 

 

 

Demand of No. of 

units 

10 11 12 

Probability 0.35 0.40 0.25 

 

 c) A manager has to make a choice from 3 available courses of action A1, A2 

and A3. There are 2 possible states of nature S1 and S2 with probabilities of 

occurrence as 0.7 and 0.3 respectively. For state S1, the pay- off for three 

actions are Rs.25,000, Rs. 35,000 and Rs. 20,000 respectively. While for 

state S2, the pay-offs are Rs. 45,000, Rs. 50,000 and 35,000respectively. 

Represent the problem with help of a Decision Tree and suggest the most 

preferred decision and corresponding expected value. 

 

 d) In the following matrix, the elements indicate the pay-offs to four available 

actions under each of five possible states of nature. Determine best decisions 

using  

      (i) Minimax regret criterion (ii) Laplace criteria 

 

 

 

 

 

 

 

 

 States Of Nature 

Acts

  
S1 S2 S3 S4 

A1 25 35 75 0 

A2 15 55 0 45 

A3 0 10 30 30 

A4 30 0 65 25 

 

 

 

e) Explain the following terms: i) Course of action  ii) Pay-off matrix     

 

**************************** 
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[Time:3:00 Hrs] [ Marks:100 ] 

Please check whether you have got the right question paper. 

N.B: 1. All question are compulsory. 

2. Figures to the right indicate full marks. 

3. Students answering in the regional language should refer in case of 

doubt to the main text of the paper in English. 

 

Q.1 

 

 (A) Read the world thematic map and answer the question of following   

                

        1. Name the theme and cartographic technique used to represent the theme? 

        2. What is the Coal production of India and U.S.A? 

        3. Which continent having high and low Coal production show in the map? 

        4. Write about coal production of China. 

        5.Write about coal production of the world. 

(B) Mark and name the following on the outline map of the world given to you.                             

                     

10 
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i) Madagascar island 

ii) Bay of Bengal 

iii) Major mountain range located in North America 

iv) Area of coniferous forest in Asia 

v) Any one of oil field in India. 

vi) Any one country having low human development index from Asia 

vii) Any one country having low development index from Asia 

viii) Gulf of Mexico 

ix) Any one area of desert in the world 

x) Any one area affected by acid rain in the world. 

Q.2  Attempt any two questions from the following:                              

A) Define Environment and describe the different components of an Environment. 

B) Explain with examples biotic or living components of the environment. 

c) What is an Ecosystem? Explain different types of Ecosystems with suitable examples.  

20 

Q.3  Attempt any two questions from the following:                                

A) What is water pollution? Explain its causes and effects. 

B) What are the measures of coal and oil conservation? 

C) Distinguish between renewable and non-renewable resources. 

20 

Q.4  Attempt any two questions from the following:                                 

A) Divide the world into major population density zones. 

B) What are the causes and effects of Population Growth in India. 

C) What is Demographic Transition Theory and Explain its stages. 

20 
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Q.5  Attempt any two questions from the following:                                 

A) What is Smart City? Explain in detail. 

B) What is Migration? Explain different types of migration. 

C) Discuss the impact of urbanization on climate and biodiversity. 

20 

 

[वेळ: ३ तास] [ गुण:100 ] 

                  कृपया तुम्हाला योग्य प्रश्नपत्रिका त्रमळाली आह ेका ते तपासा. 

सूचना:  १ सवव प्रश्न अत्रनवायव आहते. 

 २ उजवीकडील आकडे पूणव गुण दर्ववतात. 

  3. प्रादते्रर्क भाषेत उत्तर दणेाऱ्या त्रवद्यार्थयाांनी र्ंका असल्यास पेपरच्या मुख्य         

मजकुराचा इंग्रजीमध्ये संदभव द्यावा. 
 

प्र.१  
(अ) जगाचा थीमॅटिक नकार्ा वाचा आत्रण खालील प्रश्नाचे उत्तर द्या                       

  १.नकार्ाची संकल्पना  व कोणत्या नकार्ार्ास्त्रीय पद्धतीचा वापर केला आह ेते सांगा.? 

  २.भारत व USA मध्ये कोळर्ाचे उत्पादन  ककती आह े? 

  ३.नकार्ामध्ये कोणत्या खंडात  कोळर्ाचे उत्पादन सवावत कमी आत्रण सवावत जास्त दाखत्रवले आह े.? 

 ४. चीनच्या  कोळर्ाच्या  उत्पादना बद्दल त्रलहा. 

 ५. जागत्रतक कोळर्ाच्या  उत्पादना बद्दल त्रलहा. 

10 
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Q.P. Code:00000162  
  

 

 

          

(ब) तुम्हाला कदलेल्या जगाच्या बाह्यरेखा नकार्ावर खालील त्रचनहांककत करा आत्रण नावे द्या.  

 

i) मादागास्कर बेि 

ii) बंगालचा उपसागर 

iii) उत्तर अमेटरकेतील प्रमुख पववतरांगा 

iv) आत्रर्यातील रं्कूच्या आकाराच्या जंगलाचे क्षेि 

v) भारतातील कोणतेही तेल क्षेि. 

vi) आत्रर्यातील मानव त्रवकास त्रनदरे्ांक कमी असलेला कोणताही दरे् 

vii) आत्रर्यातील कमी त्रवकास त्रनदरे्ांक असलेला कोणताही दरे् 

viii) मेत्रससकोचे आखात 

ix) जगातील वाळवंिातील कोणतेही एक क्षेि 

x) जगातील कोणतेही एक क्षिे आम्ल पावसामुळे प्रभात्रवत झाले आह.े 

 

10 

प्र.२  
                                :               

अ) पयाववरणाची व्याख्या करा आत्रण पयाववरणाच्या त्रवत्रवध घिकांचे वणवन करा. 

ब) पयाववरणातील जैत्रवक ककवा त्रजवंत घिक उदाहरणांसह स्पष्ट करा. 

c) इकोत्रसस्िम म्हणजे काय? त्रवत्रवध प्रकारच्या इकोत्रसस्िम्स योग्य उदाहरणांसह स्पष्ट करा. 

20 
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प्र.३                                 :               

अ) जलप्रदषूण म्हणजे काय? त्याची कारणे आत्रण पटरणाम स्पष्ट करा. 

ब) कोळसा आत्रण तेल संवधवनाचे उपाय काय आहते? 

क) नूतनीकरणीय आत्रण अपारंपटरक ससंाधनांमध्ये फरक करा. 

20 

प्र.४                                 :               

अ) जगाला प्रमुख लोकसंख्येच्या घनतेच्या झोनमध्ये त्रवभात्रजत करा. 

ब) भारतातील लोकसंख्या वाढीची कारणे आत्रण पटरणाम काय आहते. 

क) लोकसंख्यार्ास्त्रीय सकं्रमण त्रसद्धांत म्हणजे काय आत्रण त्याचे िप्पे स्पष्ट करा. 

20 

प्र.५                                 :               

अ) स्मािव त्रसिी म्हणजे काय? सत्रवस्तर समजावनू सांगा. 

ब) स्थलांतर म्हणजे काय? स्थलांतराच ेत्रवत्रवध प्रकार समजावून सांगा. 

क) र्हरीकरणाचा हवामान आत्रण जैवत्रवत्रवधतेवर होणाऱ्या पटरणामांची चचाव करा. 

20 
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[Time: 3.00 Hrs] [ Marks:100 ] 

Please check whether you have got the right question paper. 

N.B: 1. All question are compulsory. 

2. Figures to the right indicate full marks. 

3. Students answering in the regional language should refer in case of doubt to 

the main text of the paper in English. 

 

Q.1 
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Multiple Choice Questions  

Select the most appropriate answer from the option given below. (Any 

Ten out of Twelve)             

 i) If change in one variable leads to constant change in another variable then it 

is a ------------.  

a. Linear function  

b. Nonlinear function  

c. Equation  

d. Average  

ii) What will be the meaning of f, if  C = f(Y)?  

a. Function  

b. Equation  

c. Variable  

d. Consumption  

iii) If the quantity (Q) is 10 units and price (P) is Rs20/- then total revenue will 

be -------. 

a. 200  

b. 2  

c. 100  

d. 20  

iv) Income elasticity of demand is --------- in the context of inferior 

commodities.  

a. Positive  

b. Negative  

c. Zero  

d. Infinite  

v) If the demand for commodity is inelastic, then when the price of commodity 

increases, the 

       total cost ----------------.  

a. No change  

b. Decreases  

c. Increases  

d. None of the above  

10 
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B. 

 

 

vi) The change in the price of one commodity, on the demand of another 

commodity  is measured by--------- 

a. Income  

b. Cross  

c. Advertisement   

d. Replacement 

vii) Negative marginal returns occur due to ----------- 

a. Relative abundance of variable factors  

b. Relative abundance of fixed factors  

c. Relative scarcity of variable factors  

d. Scarcity of fixed and variable factors  

viii) An ISO quant curve is a curve along which the maximum achievable rate 

of...... Is constant.  

a. Production   

b. Capital   

c. Investment    

d. Depreciation   

ix) Two ISO Quant curves...... to each other.  

a. Can intersect   

b. Cannot intersect  

c. Parallel  

d. Vertical  

x) The average variable cost will generally _____ as the output rises from zero 

to the normal capacity level of output.  

a. Fall 

b. Increase 

c. Equal 

d. Marginal 

xi) The shutdown and break-even points are ---------. 

a. Same  

b. Different  

c. Remain Constant  

d. Shifts down  

xii) Given selling price is Rs 10 per unit, variable cost is Rs 6 per unit and 

fixed cost is Rs 5,000. What is break-even point?  

a. 500 units 

b. 1,000 units 

c. 1,250 units 

d. 750 units 

State whether the following statements are True or False.  (Any Ten out of 

Twelve)        

i) Market demand is a vertical summation of demand of all individuals. 
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ii) There is positive relationship between quantity demanded and price, in the 

case of Giffen goods. 

iii) There is a single seller in monopoly market.  

iv) Market demand curve is steeper than individual demand curve.  

iv) Supply curve is upward sloping.   

v) Increase and decrease in demand are shown on the same demand curve 

vii) Promotional elasticity of demand is also known as ‘advertisement 

elasticity.’  

viii) MRn   = TRn – TRn-1 

ix) Statistical method is also known as quantitative method.  

xii) Production function is the technical relationship between two outputs.  

xi) Law of returns to scale is a long run production theory.  

xii) ) Total revenue is calculated by multiplying price and quantity.                                        

 

 

 

 

 

 

 

 

Q.2  

A. 

 

B. 

C. 

Answer Any Two of the following Out of Three questions. 

Give the definition of business economics and write the scope of business 

economics.   

Explain the market demand curve with the help of table and diagram.  

Explain ‘shifts or changes in demand’ with the help of diagram. 

15 

Q.3  

A. 

B. 

C. 

Answer Any Two of the following Out of Three questions. 

What is the definition of demand? What are the determinants of demand?  

Explain law of demand in detail.  

What is demand forecasting? Explain the significance of demand forecasting. 

15 

 

 

Q.4  

A. 

B. 

C. 

Answer Any Two of the following Out of Three questions. 

What are the types of production function?   

Explain the law of variable proportion with the help of table and diagram.  

Explain internal economies of scale and internal diseconomies of scale. 

15 

Q.5  

A. 

B. 

 

C. 

Answer Any Two of the following Out of Three questions. 

Write any four concepts of costs.   

Draw the long run average cost curve with the help of short run average cost 

curves.  

Explain the concept of break-even point with the help of diagram. 

15 

 

 

 

Q.6  

A. 

B. 

C. 

D. 

E. 

F. 

 

Write notes on Any Four out of Six. 

Marginalism  

Demand function 

Income elasticity of demand 

Production function  

Economies of scope  

Learning curve 

20 
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[वळे: ३ तास] [ गणु: १००]     

                  कृपया तमु्हाला योग्य प्रश्नपत्रिका त्रिळाली आह ेका ते तपासा. 

सचूना:  १ सवव प्रश्न अत्रनवायव आहते. 

 २ उजवीकडील आकडे पणूव गणु दर्ववतात. 

 3. प्रादते्रर्क भाषते उत्तर दणेाऱ्या त्रवद्यार्थयाांनी र्कंा असल्यास पेपरच्या िखु्य िजकुराचा इगं्रजीिध्ये संदभव द्यावा. 

 

प्र.१  

अ. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

बहुपयावयी प्रश्न 

खाली दिलेल्या पयाायातून सर्ाात योग्य उत्तर दनर्डा. (बारा पैकी कोणतेही िहा)         

i) जर एका व्हरेरएबलिधील बदलािळेु दसुऱ्या व्हरेरएबलिध्ये सतत बदल होत असतील तर ते ------------ 

आह.े 

अ) रेषीय फलन  

ब) अरेषीय फलन  

क) सिीकरण 

ड) सरासरी 

ii) C = f (Y) असल्यास, f  चा अर्व काय असेल? 

अ) फलन  

ब) सिीकरण 

क) चल 

ड) उपभोग 

iii) जर पररिाण (Q) 10 यतु्रनट असेल आत्रण त्रकंित (P) रुपये 20/- असेल तर एकूण िहसूल ------- असेल. 

अ) 200 

ब) 2 

क)100 

ड) 20 

iv) त्रनकृष्ट वसतूंच्या संदभावत िागणीची उत्पन्न लवत्रचकता --------- असते. 

अ) धनात्िक  

ब) ऋणात्िक  

क) र्नू्य 

ड) अनंत 

v) जवे्हा वसतचूी िागणी ही अलवत्रचक असते, तेव्हा वसतूची त्रकंित वाढते व एकूण त्रकंित -------------. 

अ) यािध्ये बदल होत नाही. 

ब) किी होते.  

क) वाढते. 

ड) वरीलपैकी एकही नाही. 

vi) एका वसतचू्या त्रकितीतील बदलाचा दसुऱ्या वसतचू्या िागणीवर होणारा बदल हा ..... लवत्रचकतेने 

िोजला जातो. 
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ब 

  

अ) उत्पन्न 

ब) त्रतरकस  

क) जात्रहरात 

ड) प्रत्रतसर्ापना  

vii) -----------  िळेु ऋणात्िक सीिांत फल आढळते. 

अ) पररवतवनीय घटकांची सापेक्ष त्रवपलुता 

ब) त्रसर्र घटकांची सापेक्ष त्रवपलुता 

क) पररवतवनीय घटकांची सापेक्ष कितरता 

ड) त्रसर्र आत्रण पररवतवनीय घटकांची कितरता 

viii) सिउत्पादन वक्र हा एक असा वक्र आह ेज्यावर ...... चा िहत्ति दर त्रसर्र असतो. 

अ) उत्पादन 

ब) भांडवल 

क) गुतंवणकू 

ड) घसारा 

ix) दोन सि उत्पादन वक्र एकिकेांना --------- असतात. 

अ) छेद ूर्कतात 

ब) छेद ूर्कत नाही 

क) सिांतर 

ड) त्रक्षत्रतजलंब  

x) उत्पादन र्नू्य वरून सािान्य क्षितेच्या पातळीवर गेल्याने सरासरी बदलता खचव _____ होईल. 

अ) किी   

ब) वाढ 

क) सिान 

ड) सीिांत  

xi) र्टडाउन आत्रण ब्रेक-इव्हन त्रबंद ूह े --------- आहते. 

अ) एकच  

ब) त्रभन्न  

क) त्रसर्र 

ड) खाली सरकते 

xii) त्रदलेली त्रवक्री त्रकंित प्रत्रत यतु्रनट 10 रुपये आह,े बदलता खचव प्रत्रत यतु्रनट 6 रुपये आत्रण त्रसर्र खचव  5000 

रुपये आह.े तर ब्रेक-इव्हन त्रबंद ू ______ असेल. 

अ) 500 यतु्रनट्स 

ब) 1,000 यतु्रनट्स 

क) 1,250 यतु्रनट्स 

ड) 750 यतु्रनट्स 

खालील दर्धाने सत्य आहेत की असत्य आहेत ते साांगा. (बारा पैकी कोणतेही िहा) 

i) बाजारातील िागणी ही सवव व्यक्तींच्या िागणीची उभी बेरीज असते. 
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ii) त्रगफेन वसतूंच्या बाबतीत िागणी पररिाण आत्रण त्रकंित यांच्यात धनात्िक संबंध असतो. 

iii) िके्तदारी बाजारात एकच त्रवके्रता असतो. 

iv) बाजार िागणी वक्र हा वयैत्रक्तक िागणी वक्रापेक्षा जासत त्रसटपर आह.े 

iv) परुवठा वक्र हा वरच्या त्रदर्नेे जाणारा असतो. 

v) िागणीतील वाढ आत्रण घट ही एकाच िागणी वक्रावर दर्वत्रवली जाते.  

vii) िागणीच्या प्रचारात्िक लवत्रचकतेला ‘जात्रहराती लवत्रचकता’ असेही म्हणतात. 

viii) MRn = TRn – TRn-1 

ix) सांत्रख्यकीय पद्धतीला पररिाणात्िक पद्धत असेही म्हणतात. 

xii) उत्पादन फलन ह ेदोन उत्पादनािधील तांत्रिक संबंध दर्वत्रवते. 

xi) पररिाण प्रत्यय त्रनयि हा दीघवकालीन उत्पादन त्रसद्धांत आह.े 

xii) ) एकूण िहसलू हा त्रकंित आत्रण पररिाण यांचा गणुाकार करून िोजला जातो. 

 

 

 

 

 

 

 

 

 

 

 

प्र.२  

अ 

ब 

क 

खालील तीनपैकी कोणत्याही दोन प्रश्नांची उत्तरे द्या.                                                                                         

व्यावसात्रयक अर्वर्ास्त्राची व्याख्या सांगनू व्यावसात्रयक अर्वर्ास्त्राची व्याप्ती त्रवषद करा. 

तक्ता आत्रण आकृतीच्या साहाय्याने बाजार िागणी वक्र सपष्ट करा. 

आकृतीच्या साहाय्याने ‘िागणीतील सर्ानांतरण त्रकंवा बदल’ सपष्ट करा. 

१५ 

प्र.३  

अ 

ब 

क 

खालील तीनपैकी कोणत्याही दोन प्रश्नांची उत्तरे द्या.                                                                                         

िागणीची व्याख्या काय आह?े िागणीचे त्रनधावरक काय आहते? 

िागणीचा त्रनयि सत्रवसतर सपष्ट करा. 

िागणीचा अदंाज म्हणज ेकाय? िागणीच्या अदंाजाचे िहत्त्व सपष्ट करा. 

१५ 

 

 

प्र.४  

अ 

ब 

क 

खालील तीनपैकी कोणत्याही दोन प्रश्नांची उत्तरे द्या.                                                                                         

उत्पादन फलनाचे प्रकार कोणते आहते? 

तक्ता आत्रण आकृतीच्या साहाय्याने बदलत्या प्रिाणाचा त्रनयि सपष्ट करा. 

अतंगवत त्रित्तव्ययता आत्रण अंतगवत अत्रित्तव्ययतेचे सपष्टीकरण करा 

१५ 

प्र.५  

अ 

ब 

क 

खालील तीनपैकी कोणत्याही दोन प्रश्नांची उत्तरे द्या.                                                                                         

खचावच्या कोणत्याही चार संकल्पना त्रलहा. 

अल्पकालीन सरासरी खचव वक्रांच्या िदतीने दीघवकालीन सरासरी खचव वक्र काढा. 

आकृतीच्या साहाय्याने ब्रेक-इव्हन त्रबंदचूी संकल्पना सपष्ट करा. 

१५ 

प्र.6  

अ 

ब 

क 

ड 

इ 

ई  

सहापैकी कोणत्याही चारवर त्रटपा त्रलहा.    

सीिांतवाद                                                                                                 

िागणी फलन  

िागणीची उत्पन्न लवत्रचकता                                                                         

उत्पादन फलन  

व्याप्तीची अर्वव्यवसर्ा                                                                                   

त्रर्काऊ (लत्रनांग) वक्र 
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[Time: 3.00 Hrs] [ Marks:100] 

Please check whether you have got the right question paper. 
N.B: 1. All questions are compulsory. 

2. Figures to the right indicate full marks. 
3. Students answering in the regional language should refer in case of 

doubt to the main text of the paper in English. 
 

Q.1 
 

A) 
 
 
 
 
 
 
 
 
 
 
B) 
 
 
 
 
 
 
 
C) 

Explain the following terms in 2-3 sentences: (Any Five)  
i. Sender 

ii. Silence as a means of communication 
iii. Oral communication 

iv. Verbal communication 
v. Feedback 

vi. E-mail 
vii. Grapevine 

viii. Encoding 
Fill in the blanks choosing the best alternative from the once given below:   

1. Moodle is a tool for -------.( Twitter, E-leraning, WhatsApp, Facebook) 

2. Communication should result in a/an -------. ( Lengthy, short, understanding, verbal) 

 3. Closed mind is a _____ barrier. (Psychological, physical, language) 
 4. ---------- is a form of non-verbal communication. (Letter, notice, report, body language) 
 5. --------- social networking service helps connect with old friends.(Facebook, 

WhatsApp, twitter, yahoo)  
c)    Match the following:           

                               Column A                                                              Column B 
i. Social Media                                                     i. Time and distance 
ii. E-commerce                                                     ii. Technical language 
iii. Physical barrier                                               iii. Communication tool 
iv. Jargon                                                              iv. sub-ordinates to superiors  
v. Upward communication                                  v. Trading 

 

10 
 
 
 
 
 
 
 
 
 
 
 
 
5 
 
 
 
 
 
 
 
 
 
 
5 

 

Q.2  Write short notes on: (Any Four)        

      1. Process of Communication 
      2. Importance of Business Communication 
 3. Advantages of oral communication 
 4. Horizontal communication 
 5. E-mail 
 6. Importance of Feedback 

20  
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Q.3  Answer the following (Any Two) :        

1. What are the different barriers to communication? Explain any two linguistic 
barriers in detail. 

2. Explain the need and importance of good listening in the modern business world.  

3. Explain Business Ethics. Discuss the role and importance of business ethics in the 
world today. 

 

20  

Q.4  “Wanted  salesmen/ salesgirls, for a reputed textile mill in Mumbai. The applicant should 
be a graduate with at least 2-3 years experience and fluent in English. Apply, with a 
detailed Bio-data to Box.No.R- 123, The Times of India, Mumbai-400 001.” 

 

10  

Q.5  Draft the following letters: (Any Four):                                                                                                               
1. Write a letter of acceptance to Koyana Milk Products, Karad who has 

appointed you as a Quality Control Manager in their company. 
2. You have received a letter of Appointment as Manager in State Bank of 

India, Mumbai. Write a letter of resignation to your present employee. 
3. You are applying to Oxford University for a Degree Course in Public 

Relations. Write a statement of purpose to that effect. 
4. Draft a recommendation letter for Mr. Pratik of Finance department of your 

organization who wishes to apply for the post of Manager (Finance) with 
Hindustan Chemicals Ltd. 

5. Rakesh Varma of the Marketing department has worked hard and proved his 
skills in marketing. Draft a letter of appreciation to him.  

 

20  

Q.6 A) 
 
 
 
B) 

Write a paragraph in about 150 words :( Any One)                                                                                             
1. Need of tree plantation 

 2. Say no to Plastic 
 

Read the following situation carefully and answer the questions given below: 

Mr. Raj Kumar, the newly appointed Branch Manager at HDFC Bank believed that 
matters concerning the working of the bank must be routed through the various channels 
of hierarchy. He did not encourage staff to meet him. As a result a lot of time was spent in 
matters being dealt with at various levels of the hierarchy before finally reaching Mr. Raj. 
This created dissatisfaction among staff, also delayed decision making affected the bank’s 
working. 

i. Identify and explain the problem in the channel of communication that Mr. Raj 
practices.             

ii. According to you, how can the problems faced by staff be overcome.  

5 
 
 
 
 
 
 
 
 
 
 
 
 
 
3 
 
2 
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[वेळ: ३ तास] [ गुण:१०० ] 

कृपया त᭥ुहाला यो᭏य ᮧ᳤पिᮢका िमळाली आहे का ते तपासा. 
सूचना: १सवᭅ ᮧ᳤ अिनवायᭅ आहते. 

२उजवीकडील आकडे पूणᭅ गुण दशᭅवतात. 

3. ᮧादेिशक भाषेत उᱫर देणाᮋया िव᳒ा᭝याᲈनी शंका अस᭨यास पेपर᭒या मु᭎य मजकुराचा इंᮕजीम᭟ये 

संदभᭅ ᳒ावा. 
 

ᮧ.१ अ) 
 
 
 
 
 
 
 
 
ब) 
 
 
 
 
 
 
 
क) 

खालील सं²ा २-३ वा³यांमÅये ÖपĶ करा: (कोणतेही पाच)  
i.सं देश पाठवणारा 
ii. संवादाचे साधन Ìहणनू शांतता 
iii .तŌडी संवाद 
iv. तŌडी संवाद 
v. अिभÿाय 
vi. ई-मेल 
vii. Grapevine 
viii. एÆकोिडंग ( Encoding) 
खाली िदलेÐया पैकì सवō°म पयाªय िनवडून åरĉ जागा भरा:  
1. मडूल हे -------.( Twitter,  E-leraning, WhatsApp, Facebook) साठी एक साधन आहे. 
2. संÿषेणाचा पåरणाम a/an ------- मÅये झाला पािहजे. (लांबी, लहान, समजतूदार, शािÊदक) 
3. बं द मन एक _____ अडथळा आह.े (मानिसक, शारीåरक, भाषा) 
4. ---------- हा गैर-मौिखक संवादाचा एक ÿकार आहे. (पý, सूचना, अहवाल, देहबोली) 
5. --------- सोशल नेटविक« ग सेवा जÆुया िमýांशी कने³ट होÁयास मदत करते. (फेसबुक, Óहाट्सएप, ट्िवटर, 
याहó) 
 
खालील जोड्या जळुवा: 
   Öतंभ A                    Öतंभ B 
इ. सोशल मीिडया        i. वेळ आिण अंतर 
ii. ई-कॉमसª                    ii. तां िýक भाषा 
iii .भौितक अडथळा        iii. सं ÿेषण साधन 
iv. शÊदजाल                    iv. वåरķां ना अधीनÖथ 
v. ऊÅवªगामी संÿेषण        v. Óयापार 

१० 
 
 
 
 
 
 
 
 
 
 
 
५ 
 
 
 
 
 
 
 
 
 
५ 
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ᮧ.२  Ǒटपा ͧलहा: (कोण×याहȣ चार)   

1. सĤंेषणाची ĤͩĐया 

2. ǒबझनेस कàयुǓनकेशनच ेमह××व 

3. मौͨखक सवंादाच ेफायदे 

4. ¢ैǓतज सĤंेषण 

5. ई-मेल 

6. अͧभĤायाच ेमह××व 

२०  

ᮧ.३  खालȣल पकैȧ (कोणतेहȣ दोन ) Ĥæन सोडवा:       

1. सं ÿेषणातील िविवध अडथळे कोणते आहेत? कोणÂयाही दोन भािषक अडथÑयांचे तपशीलवार वणªन 
करा. 

2. आधुिनक Óयावसाियक जगात चांगले ऐकÁयाची गरज आिण महßव ÖपĶ करा. 

3. Óयवसाय नैितकता ÖपĶ करा. आज जगातील Óयावसाियक नीितम°ेची भिूमका आिण महßव यावर चचाª 
करा. 

२०  

ᮧ.४  खालȣल जाǑहरातीला ĤǓतसाद àहणनू एक अज[ पğ ͧलहा:  

“मुबंईतील एका नामांͩकत कापड ͬगरणीसाठȤ सेãसमन/सेãसगल[ हवी आहे. अज[दार ͩकमान 2-3 
वषाɍचा अनुभव आͨण इंĒजीमÚये अèखͧलत असलेला पदवीधर असावा. Box.No.R- 123, The 

Times of India, Mumbai-400 001 वर तपशीलवार बायोडेटासह अज[ करा.” 

१०  

ᮧ.५  खालȣलपैकȧ (कोणतेहȣ चार) Ĥæन सोडावा :    

1. कोयना ͧमãक ĤॉडÈɪस, कराड यांना èवीकृतीच ेपğ ͧलहा Ïयांनी तुàहाला ×याÍंया कंपनीत 
गुणव×ता Ǔनयंğण åयवèथापक àहणनू ǓनयुÈत केले आहे. 

2. तàुहाला èटेट बँक ऑफ इंͫडया, मुबंई येथे åयवèथापक àहणनू ǓनयुÈतीच ेपğ ͧमळाले आहे. 
तुमÍया सÚयाÍया कम[चाâयाला राजीनाàयाच ेपğ ͧलहा. 

3. तàुहȣ ऑÈसफड[ ͪवɮयापीठात पिÞलक ǐरलेशनमधील पदवी अßयासĐमासाठȤ अज[ करत 
आहात. ×यासाठȤ उƧेशाच ेͪवधान ͧलहा. 

४. Ǒहंदèुतान केͧमकãस ͧलͧमटेडमÚये åयवèथापक (ͪव×त) या पदासाठȤ अज[ कǾ इिÍछणाâया 
तुमÍया सèंथेÍया ͪव×त ͪवभागाच ेĮी Ĥतीक याÍंयासाठȤ ͧशफारस पğ तयार करा. 

२०  
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5. माकȶ Ǒटंग ͪवभागातील राकेश वमा[ यांनी कठोर पǐरĮम कǾन माकȶ ǑटंगमÚये आपले कौशãय 
ͧसƨ केले आहे. ×याला कौतुकाचे पğ तयार करा. :       

ᮧ.६ अ) 
 
 
 
ब) 

खालीलपैकì कोणÂयाही एका िवषयावर समुारे 150 शÊदांमÅये पåर¸छेद िलहा  
1. व±ृ लागवडीची गरज 
2. ÈलािÖटकला नाही Ìहणा 
 
खालील पåरिÖथती काळजीपवूªक वाचा आिण खालील ÿĳांची उ°रे īा:  
एचडीएफसी बँकेचे नविनयुĉ शाखा ÓयवÖथापक ®ी. राज कुमार यांचा असा िवĵास होता कì बँके¸या 
कामकाजाशी संबंिधत बाबी पदानøुमा¸या िविवध माÅयमांतून मागªÖथ झाÐया पािहजेत. Âयाने कमªचाöयांना 
भेटÁयासाठी ÿोÂसाहन िदले नाही. पåरणामी, शेवटी ®ी राज यां̧ यापय«त पोहोचÁयाआधी पदानुøमा¸या 
िविवध Öतरांवर हाताळÐया जाणायाªत ÿकरणांमÅये बराच वळे गेला. यामुळे कमªचाया«कमÅये असंतोष िनमाªण 
झाला, तसेच िनणªय घेÁयास उशीर झाÐयाने बँके¸या कामकाजावर पåरणाम झाला. 
 
i. ®ी राज सराव करत असलेÐया संवादा¸या चॅनेलमधील समÖया ओळखा आिण ÖपĶ करा. 
ii. तुम¸या मते कमªचाöयां ना येणाöया अडचणी कशा दरू करता येतील. 

५ 
 
 
 
 
 
 
 
 
 
 
 
 
 
३ 
 
२ 
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[Time:2.30 Hrs] [ Marks:75 ] 

Please check whether you have got the right question paper. 

N.B: 1. All question are compulsory. 

2. Figures to the right indicate full marks. 

3. Students answering in the regional language should refer in case of 

doubt to the main text of the paper in English. 

 

Q.1 

 

a) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

b) 

 Choose the correct alternative             (Any-8) 
1. Traditional Hindu society was divided into_____ Varnas based on 
occupation of an individual.               (three/ four/ five )  
2.  Raja Ram Mohan Roy organized a movement to oppose the practice of 
______  (Sati / dowry/ polygamy) 
3. ______ refers to loyalty of people to a particular area within a State or 
country, usually characterized by common culture and language or historical 
and social background (Regionalism / Secularism/ Casteism) 
4.________ is a solution to communalism.   
            (Capitalism/ Patriotism / Communism)  
5. Majority of the tribals are engaged in ______ sector.   
           ( Agriculture/  industrial / service) 
6. In India, the states are formed mostly on the basis of ………  
                ( religion / language / caste ) 
7.________ is main cause of blindness.   
                (Cataract/ good health / Vitamin E) 
8. The first official language commission was appointed by the Government of 
India under the chairman ______.   

           (Pandit Nehru / B.G. Kher / Karamchand Gandhi) 
9.____ is an established system of classifying groups based on caste, 
economic status, etc.   
            ( Social stratification /  Demography / Diversity ) 
10. At times, _____ leads to violence and lawlessness in the society.  
            ( co-ordination / co-operation / conflict )  

 

 State whether the following statements are True or False (Any-7)   
 
1. The Constitution of India has recognized 22 major languages. 
2. In estate system, the clergy performed religious duties. 
3. Secularisms is  a belief or an ideology of a social, political or a religion group 
that their religious and practices are superior to those of another group. 

08 
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4. Pravrtti Marg consists of developing detachment from materialistic things 
of the world.    
5. The followers of Jainism follow the preaching of Lord Mahavira. 
6. Shwetambar and Pitamber are the two sects of Buddhism.   
7. A mentally retarded challenged person has a lower intelligence when 
his/her IQ level  is below 90 .  
8. In India Goa state has lowest literacy rate.   
9. Sexual harassment at workplace is a form of social violence against  
women. 
10. Due to casteism there are conflicts between the upper castes and the 
lower castes.   
          

Q.2 a) 

 

b) 

Explain in detail about ‘India as a multi-religious and multi-lingual society’.  

OR 

What are the different types of violence against women? Suggest remedial 
measures to their problems.  

 

15 

Q.3 a)  

 

b) 

What is casteism? How casteism is highly responsible to intergroup conflicts. 
OR 

Define “Communalism”. Discuss the features of communal conflicts in India. 
 

15 

Q.4 a) 

 

b) 

What is urbanization?  Explain major characteristics of urban people in India 
OR 

Discuss the causes and consequences of gender inequality in India.           

15 

Q.5 a) 

 

b) 

Discuss the inequalities caused by the caste system in India.     
OR 

Write short notes on      (Any-3) 

1. Causes of linguistic conflicts  
2. Characteristics of tribals 
3.  Status of women in modern times 
4. Visually Handicapped 
5. India’s literacy rate 

15 

 

[वेळ: ३ तास] [ गुण:75 ] 

                  कृपया तुम्हाला योग्य प्रश्नपत्रिका त्रमळाली आह ेका ते तपासा. 

सूचना:  १ सवव प्रश्न अत्रनवायव आहते. 

 २ उजवीकडील आकडे पूणव गुण दर्ववतात. 
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  3. प्रादते्रर्क भाषेत उत्तर दणेाऱ्या त्रवद्यार्थयाांनी र्ंका असल्यास पेपरच्या मुख्य         

मजकुराचा इंग्रजीमध्ये संदभव द्यावा. 
 

प्र.१ अ) 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 

ब) 

योग्य पयावय त्रनवडा  (कोणतेही-८)   

1.पारंपाररक हहद ूसमाज हा व्यक्ती करीत असलले्या व्यवसायाच्या आधारे_____ 

वणाांमध्ये त्रवभागला गेला होता. ( तीन / चार / पाच ) 

2._____प्रथेला त्रवरोध करण्यासाठी राजाराम मोहनरॉय यांनी चळवळ उभारली होती.                                

(सती / हडंाबंदी / बहत्रववाह) 
 

3.  ______ म्हणजे समान संस्कृती आत्रण भाषा ककवा ऐत्रतहात्रसक व सामात्रजक पार्श्वभूमी 

असलले्या एका राज्यात ककवा दरे्ातील एखाद्या त्रवत्रर्ष्ट क्षेिार्ी असलेल्या लोकांच्या 

त्रनष्ठचेा संदभव. ( प्रादते्रर्कता / धमवत्रनरपके्षता / जातीवाद) 

 4.________ हा जमातवादावर चांगला उपाय आह.े 

                   ( भांडवलर्ाही / दरे्प्रेम/  साम्यवाद)   

5. बहतांर् आददवासी लोकं ______या क्षेिात गंुतलेल ेआहते. 

                    ( र्ेती  / औद्योत्रगक / सेवा ) 

6.भारतातील बहतेक राज्ये ही _____ च्या आधारावर तयार झाली आहते.                   

                (धमव, भाषा,जात)  

7.____ह ेआंधळे पणाचे मुख्य कारण आह.े 

                     (मोतीहबद ू/ चांगलेआरोग्य/ जीवनसत्व-ई) 

8._____यांच्या अध्यक्षते खाली भारत सरकारन ेप्रथम अत्रधकृत भाषा आयोग नेमला. 

        (पंत्रडतनेहरू / बी.जी.खेर / करमचंदगांधी ) 
 

9.____ ह ेजाती व आर्थथक त्रस्थतीवर आधारीत वगीकरण करणार् या गटाचंी स्थापना 

केललेी प्रणाली आह.े 

                 (सामात्रजक स्तरीकरण / लोकसंख्या र्ास्त्र / त्रवत्रवधता) 

10.कधीकधी____ मुळे समाजात हहसाचार आत्रण अराजकता त्रनमावण होते. 

                     (समन्वय / सहकार / संघषव) 
 

खालील त्रवधाने सत्य ककवा असत्य आहते ह ेसांगा (कोणतेही-७)                                          
 

1. भारतीय राज्यघटनेने २२ भाषाना ंप्रमुख भाषा म्हणून मान्यता ददली आह.े 

2. इस्टेट त्रसस्टम (संपदा रचना)मध्ये धमवगुरू ह ेधार्थमक कतवव्य बजावत असतात. 

3. धमवत्रनरपेक्षता ही सामात्रजक, राजकीय ककवा धमवगटाची एक श्रद्धा ककवा एक 

त्रवचारधारा आह ेकी   त्याचंा धमव आत्रण आचरण(प्रथा)इतर गटांपेक्षा शे्रष्ठ आहते. 

08 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
07 
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4. प्रवृत्ती मागव स्वीकारल्यामूळे जगातील भौत्रतकवादी गोष्टींपासून लांब जाण्याचा 

समावेर् होतो . 

5. जैनधमावचे अनुयायी भगवान महावीरांच्या उपदरे्ाचे अनुसरण करतात. 

6. र्श्ेतांबर आत्रण पीतांबर ह ेबौद्ध धमावचे दोन पथं आहते. 

7. मानत्रसक दषृ्ट्या अपगं असलेल्या व्यक्तीची बदु्ध्यांक पातळी९०च्या खाली असते तेव्हा 

ती व्यक्ती कमी बुत्रद्धमत्ता असललेी असते.      

8. भारतात साक्षरतेचे प्रमाण गोवा ह्या राज्यात सवावत कमी आह.े 

9. कामाच्या रठकाणी लैंत्रगक छळ हा मत्रहलांवरील सामात्रजक हहसाचाराचा प्रकार आह.े 

10. जातीयवादामूळे उच्च जाती आत्रण खालच्या जातींमध्ये संघषव असतो. 

                                                                                             

प्र.२ अ) 

 

ब) 

‘भारत हा बह-धार्थमक आत्रण बहभात्रषक समाज आह’ेयाबद्दल तपर्ीलवार स्पष्टीकरण द्या. 

                                                     ककवा 

मत्रहलांवरील हहसाचाराचे त्रवत्रवध प्रकार कोणते आहते? त्यांच्या समस्यांवर उपाय सुचवा.  

                                                                                                             

15 

प्र.३ अ) 

 
 

ब) 

जात्रतयवाद म्हणजे काय? जात्रतयवाद अंतगवत संघषाांस कसा जबाबदार आह ेत्यात्रवषयी 

त्रलहा. 

                                                     ककवा 

"जमातवादा" ची व्याख्या सांगून भारतातील जातीय संघषाांच्या वैत्रर्ष्ट्यांची चचाव करा. 

                                                                                   

15 

प्र.४ अ) 

 

ब) 

र्हरीकरण म्हणजे काय? भारतातील र्हरी लोकांची प्रमुख वैत्रर्ष्ट्य ेस्पष्ट करा                                                                                                                                              

                                                    ककवा 

भारतातील स्त्री पुरुष असमानतेची कारणे आत्रण पररणामांची चचाव करा. 

 

15 

प्र.५ अ) 

 

ब) 

भारतातील जात्रतव्यवस्थेमुळे त्रनमावण झालले्या असमानतेची चचाव करा.                                                                                                                                                                                                                    

                                                    ककवा 

रटपा त्रलहा (कोणत्याही-३)  

1.  भात्रषक संघषावची कारणे 

2.  आददवासींची वैत्रर्ष्ट्ये  

3.  आधुत्रनक काळातील मत्रहलांचे स्थान  

4.   दतृ्रष्टहीन  

 5.  भारताचा साक्षरतेचा दर  

 

15 
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QP: 00000346 

[Time:3 Hrs] [Marks:100] 

Please check whether you have got the right question paper. 

N.B: 1. All question are compulsory. 

2. Figures to the right indicate full marks. 

3. Students answering in the regional language should refer in case 

of doubt to the main text of the paper in English. 
 

Q.1 A. 
Fill in the blank with the appropriate option given in the 

bracket. (Any 10)  10 

 1 
Poultry, dairy & plant nurseries are examples of _________ 

industry.  

  A. genetic, B. extractive, C. Construction, D. Creation  

 2 ___________ is an organic objectives.  

  A. Prestige, B. Social Welfare, C. Wealth Creation, D. extractive  

 3 
___________ refers to transfer of government function to the 

private sector.  

  A. Liberalization, B. Privatization, C. Globalization, D. Social  

 4 Environment factors are ___________  

  A. stable, B. dynamic, C. isolated, D. Macro  

 5 Customer is an element of ________ environment.  

  A. Micro, B. Macro, C. Internal, D. dynamic  

 6 WTO replaced GATT in the year ___________.  

  A. 1995, B. 2000, C. 2002, D. 2001  

 7 
___________ is mandatory for opening of bank account & filling 

of Income Tax returns.  

  A. PAN, B. TAN, C. DIN, D. PDT  

 8 
____________ acts as a reference guide during the execution of the 

projects.  

  

A. Feasibility Report, B. Project Report, C. Legal Report, D. Legal 

Project  

 9 ____________ is required for tax deduction at source.  

  A. TAN, B. PAN, C. DIN, D. PDT  

 10 ______________ implements the plan & idea of an entrepreneur.  

  A. Managers, B. Promoters, C. Internal Entrepreneur, D. RBI  

 11 
___________ operates as the model department agency for small 

scale industries.  

  A. SIDO, B. IIE, C. SISI, D. RBI  
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 12 
Mahila Udyan Nidhi Scheme for Women entrepreneurs is 

implemented by ________.  

  A. RBI, B. SIDBI, C. NABARD, D. SIDO  

Q.1 B. State whether the following statements are True or False. (Any 10)  10 

 1 Trade is important part of commerce.  

 2 Earning profit is a social objective.  

 3 Mergers refers to division of company.  

 4 Internal environmental factors can be controlled.  

 5 India is a member of SAARC.  

 6 GATS is an agreement of WTO.  

 7 The feasibility study has no practical significance.  

 8 
Social infrastructure must be considered while deciding on location 

of a business unit.  

 9 The project report is important only to the entrepreneur.  

 10 An entrepreneur has to bear risk involved in business.  

 11 Entrepreneurship is an economic activity.  

 12 The scheme of TREAD is especially for women entrepreneurs.  

Q.2  Answer any TWO out of THREE.  15 

 1 Explain the Significance of business.  

 2 
Explain the concept of Liberalization, Privatization & 

Globalization.  

 3 Explain briefly the Economic objectives of the business  

Q.3  Answer any TWO out of THREE.  15 

 1 What is Trading blocs' & explain its objectives.  

 2 Explain the Functions of WTO.  

 3 Explain the Macro External Environment.  

Q.4  Answer any TWO out of THREE.  15 

 1 What is Project Report? & explain its Importance.  

 2 What is Feasibility Study? & explain its Importance.  

 3 Distinguish between Project Report v/s Feasibility Report.  

Q.5  Answer any TWO out of THREE.  15 

 1 Explain the Features of Entrepreneurship.  

 2 Explain the role of government in supporting entrepreneurship.  

 3 Explain the Competencies of an Entrepreneur.  

Q.6  Write a Short Note on. ( Any 04 )  20 

 1 Organic objectives  

 2 Types of Feasibility Study  
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 3 Registration procedure under Indian Partnership Act, 1932  

 4 Objective of EU  

 5 Features of Turnaround Strategy  

 6 Scope of Business  
 

[वेळ: ३ तास] [ गुण:१०० ] 

     कृपया तुम्हाला योग्य प्रश्नपत्रिका मिळाली आहे का ते तपासा. 
सूचना:  १ सवव प्रश्न अननवायव आहेत. 

 २. उजवीकडील आकड ेपूणव गुण दर्ववतात. 
 3. प्रादेमर्क भाषेत उत्तरे देणाऱ्या ववद्यार्थयाांनी र्ंका 
असल्यास प्रश्नपत्रिकेच्याच्या िुख्य इंग्रजीिधील 

िजकुराचा संदभव घ्यावा. 
 

 

प्र.१.  अ. कंसात दिलेल्या योग्य पयाायासह रिक्त जागा भिा. (कोणतेही 10)  १० 

 
१ 

कुक्कुटपालन, िुग्धव्यवसाय आदण िोपवादटका ही _________ उद्योगाची 

उिाहिणे आहते. 
 

  
अ. अनुवांदिक, ब. अका , क. बांधकाम, ड. दनमााण 

 

 
२ ___________ ही एक सेंदिय उदिष्ट ेआहते. 

 

  
अ. प्रदतष्ठा, ब. समाजकल्याण, क. सपंत्ती दनमााण, ड. अका  

 

 
३ 

___________ म्हणजे सिकािी कामकाज खाजगी के्षत्राकडे हसतांतरित 

किणे होय. 
 

  
अ. उिािीकिण, ब. खाजगीकिण, क. जागदतकीकिण, ड. सामादजक 

 

 
४ पयााविण घटक ___________ आहते 

 

  
अ. दसिि, ब. गदतमान, क. अलग, ड. सिूल 

 

 
५ ग्राहक हा ________ पयााविणाचा घटक आह.े 

 

  
अ. सूक्ष्म, ब. सिूल, क. अंतगात, ड. गदतमान 

 

 
६ डब्लु टी ओ ने गटॅ ची जागा ___________ साली घेतली. 
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अ. १९९५, ब. २०००, क. २००२, ड. २००१ 

 

 
७ 

___________ ह ेबँक खाते उघडण्यासाठी आदण आयकि रिटना 

भिण्यासाठी अदनवाया आह.े 
 

  
अ. पी ए एन, ब. टी ए एन, क. डी ए एन, ड. पी डी टी 

 

 
८ 

____________ प्रकल्पांच्या अंमलबजावणीििम्यान सिंभा मागाििाक 

म्हणून काया किते. 
 

  

अ. व्यवहायाता अहवाल, ब. प्रकल्प अहवाल, क. कायिेिीि अहवाल ड. 

कायिेिीि प्रकल्प 
 

 
९ स्रोताविील कि कपातीसाठी ____________ आवश्यक आह.े 

 

  
अ. टी ए एन, ब. पी ए एन, क. डी ए एन, ड. पी डी टी 

 

 
१० ______________ उद्योजकाची योजना आदण कल्पना िाबवते. 

 

  
अ. व्यवसिापक, ब. प्रवताक, क. अंतगात उद्योजक, ड. आिबीआय 

 

 
११ ___________ लघु उद्योगांसाठी नोडल दवभाग एजन्सी म्हणून काया किते. 

 

  
अ. दसडो, ब. आईआईई, क. एसआईएसआई, ड. आिबीआय 

 

 
१२ 
 

मदहला उद्योजकांसाठी मदहला उद्यान दनधी योजना ________ द्वाि े

िाबदवण्यात येते. 
 

  
अ. आिबीआय, ब. दसडबी, क. नाबाडा, ड. दसडो 

 

प्र.१ ब खालील दवधाने सत्य आहते की असत्य आहते ते सांगा. (कोणतेही 10)  १० 

 
१ व्यापाि हा वादनज्याचा महत्त्वाचा भाग आह.े 

 

 
२ नफा दमळवणे ह ेएक सामादजक उदिष्ट आह.े 

 

 
३ दवलीनीकिण म्हणजे कंपनीचे दवभाजन. 

 

 
४ अंतगात पयााविणीय घटक दनयंदत्रत केले जाऊ िकतात. 

 

 
५ भाित हा साका चा सिसय आह.े 

 

 
६ जी ए टी एस (GATS) हा डब्लु टी ओ (WTO) चा किाि आह.े 

 

 
७ व्यवहायाता अभ्यासाला व्यावहारिक महत्त्व नाही. 

 

 
८ 

व्यवसाय युदनटचे सिान ठिवताना सामादजक पायाभूत सुदवधांचा दवचाि 

किणे आवश्यक आह.े 
 

 
९ प्रकल्प अहवाल हा फक्त उद्योजकासाठी महत्त्वाचा असतो. 

 

 
१० उद्योजकाला व्यवसायात जोखीम पत्किावी लागते. 

 

 
११ उद्योजकता ही आदिाक दिया आह.े 
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१२ टे्रड (TREAD) ही योजना दविेषतः मदहला उद्योजकांसाठी आहे 

 

प्र.२ 
 

तीनपैकी कोणत्याही िोनचे उत्ति द्या.  १५ 

 
१ व्यवसायाचे महत्त्व सपष्ट किा. 

 

 
२ उिािीकिण, खाजगीकिण आदण जागदतकीकिण या सकंल्पना सपष्ट किा. 

 

 
३ व्यवसायाची आदिाक उदिष्ट ेिोडक्यात सपष्ट किा. 

 

प्र.३ 
 

तीनपैकी कोणत्याही िोनचे उत्ति द्या.  १५ 

 
१ टे्रदडंग ब्लॉक्स म्हणजे काय आदण त्याची उदिष्ट ेसपष्ट किा. 

 

 
२ डब्लु टी ओ ची काये सपष्ट किा. 

 

 
३ सिूल बाह्य वाताविण सपष्ट किा. 

 

प्र.४ 
 

तीनपैकी कोणत्याही िोनचे उत्ति द्या.  १५ 

 
१ प्रकल्प अहवाल म्हणजे काय? आदण त्याचे महत्त्व सपष्ट किा. 

 

 
२ व्यवहायाता अभ्यास म्हणजे काय? आदण त्याचे महत्त्व सपष्ट किा. 

 

 
३ प्रकल्प अहवाल व व्यवहायाता अहवाल यातील फिक किा. 

 

प्र.५ 
 

तीनपैकी कोणत्याही िोनचे उत्ति द्या.  १५ 

 
१ उद्योजकतेची वैदिष््टये सपष्ट किा. 

 

 
२ उद्योजकतेला पादठंबा िेण्यासाठी सिकािची भूदमका सपष्ट किा. 

 

 
३ उद्योजकाची क्षमता सपष्ट किा. 

 

प्र.६ 
 

यावि एक छोटी टीप दलहा. (कोणतेही ०४)  २० 

 
१ सेंदिय उदिष्टे 

 

 
२ व्यवहायाता अभ्यासाचे प्रकाि 

 

 
३ भाितीय भागीिािी कायिा, १९३२ अंतगात नोंिणी प्रदिया 

 

 
४ इ यु चे उदिष्ट 

 

 
५ टनाअिाउंड सटॅ्रटेजीची वैदिष््टये 

 

 
६ व्यवसायाची व्याप्ती 
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